21134 +F & , KX

ﬁ‘

L5

H3

e

D1
D

4

D3

© norelem

e len

H2

7= miiEA

L

BETHHERNBE , 2ARE(CLE,
TENHSEE , RITELE,

THEME LT |, RELBL

BOHESIT , REF

MK
SN E@ERNTF 0.02 mm, BHELLT , AIFARE,

BR:

BEJLFEEBRNSHMET TERNLT |, F AR TENTFNRE
“iT,

ZIERMZIER 5 10 MLk , 1 NZILITR 0.1 mm AR,
RBESUCEE  FRRITHNRYETUFREREBSEMNE. FBRAE
LERHEAESE,

o] Lz

i

www.norelem.com




21134 +24 | K&

TH= F1 F2 F3 Mx Myﬂ
N N N Nm Nm Nm

21134-104 | A [29/22[12]13[11,5| M3x0,5 | 4 [M3 3| 11 | 145 13| 8 |4]84,5|7029/46 81,5/ 4 |62 23/70|70]|7010,77|0,77(0,77
21134-108 | A |46(36|21(26| 23 | M6x1 8 4 4| 18 27 23| 14 | 6 148,5(120/46| 75 |12| 2 | 6 [108 48|200(200|200| 3,6 | 3,6 | 3,6
21134-112 | A [75/60(38|26| 23 | M6x1 [12|M6 6 |23,5 20 29 |27/15,5| 7 | 209 |180(75/120(|15| 2 |7,5/165 73|300/300/300| 18 | 18 | 18
21134-204 | B [29/22(12|13|11,5| M3x0,5| 4 M3 3| 11 | 8|14,5|13| 8 |4 | 84,5|7029/46|8|1,5/ 4 |62 23|70|70|700,77(0,77|0,77
21134-208 | B |46/36|2126| 23 | M6x1 |8 |M4 4 | 18 |14| 27 |23| 14 | 6 |148,5|120/46| 75 |12| 2 | 6 |108 48|200/200(200| 3,6 | 3,6 | 3,6
21134-212 | B [75/60(38(26| 23 | M6x1 [12|M6 6 |23,5/20| 29 |27|15,5| 7 | 209 |180(75/120|15| 2 |7,5|165 73|300/300(300| 18 | 18 | 18
21134-304 | C 29/22|12/13|11,5| M3x0,5 |4 M3 3| 11 |8 |14,5(13| 8 |4 |84,5|70|29 70|8(1,5/ 4 |62 23|70|70/|700,77|0,77|0,77
21134-308 | C [46|36(21|26| 23 | M6x1 |8 M4 4| 18 |14| 27 |23| 14 | 6 |148,5/120146{120|12| 2 | 6 |108 48|200/200|200| 3,6 | 3,6 | 3,6
21134-312 | C [75|60(38(26| 23 | M6x1 [12|M6 6 |23,5/20| 29 |27|15,5| 7 | 209 |180(75/180|15| 2 |7,5|165 73|300/300(300| 18 | 18 | 18

© norelem www.norelem.com



